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Genera/Instructions to Candidates : 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the 'cool off time' . 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 
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1. The weakest force found in nature 

a) Strong Nuclear Force 

b) Weak Nuclear Force 

c) Gravitational Force 

d) Electromagnetic Force (1) 

2. Pick the odd one out from the 

following 

a) Atomiser 

b) Hydraulic Lift 

c) Venturimeter 

d) Aerofoil (1) 

3. The correctness of an equation is 

checked using the principle of 

homogeneity. 

For an equation, x = a + bt + ct2; 

where xis in metre and tin second. 

What will be the dimension of 'b' ? (1) 

4. The coefficient of thermal expansion 

in solids are mainly i) Coefficient of 

Linear Expansion (a) ii) Coefficient 

of Area Expansion(~) iii) Coefficient 

of Volume expansion ("/). 

a) What is the ratio of a, ~ and 'Y ? (1) 

b) lnvar is used for making 

pendulum of clocks. Why ? (1) 
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1. LnJ~®1mJ1am cfu06TD6><;8Sdml O{Bf?OJ6o 
Wce®1 cfu606T'O"'\D 6DJeJo 

a) Wc6®1 cfuJSlW m~~1w& 6DJeJo 

b) Wc6®1 cfu606Wffi'J m~~1w& 6Yl.le.Jo 

c) uwo6 ® pcili &o.9:16TD 6Yl.l e.~ o 

(1) 

2. cfu~§®m1am 6)~so(Ofm®l6lm 6)(l5)(06)6l"'"ffi) 

S6c006cfu. 

a) ffi'@~Ro6>6lmcro& 

b) 6) 6)<1.D ~ l (WO gl ceu) en n.O Ru 

c) 6>rur@o1miR& 

d) Oill~oo~n.DocWlam (1) 

3. cromOJOcfu.)6l5T3~6ls wro1 6l®AScfucJ0 nJro1 

~wouSlc006ruocro principle of homogeneity 

®® Jo ~n.J ~wou)) c006 ml6. 

X = a + bt + ct2 am 'x' m"lR01e.i60 't' 

6>crocOOme.~6o (Zj@6)6TDffb1am 'b' w66)s 

6)6)(W6)mcmo.9:1cro cfu6f@6n.J1S1c006cfu . (1) 

4. 6lJ co ('IT'(0)16) ~ (lj') 0 n..J oJ1 cfu 0 ffi) <ll cfu 0 CQ) o..01 
crl:l~cfuOO f.U66llJQ)OCQ!Jp i) eJlffi]CQ>(() o.JlcfuOCTU 

<ll cBo o CQ) o..01 crl1 ~u (a) i i) ru 1 (\}?I & 6Jf;S 

oJlcBoocru <llcfuOCQJo..01crl:l~ (~) iii) ruJo~ 
oJ1 cfu o cru <llcfuO CQJ o..01 crl1 c@' ( 'Y) nm rrn1 ru 
CQ!osm. 

a) a., ~, "/ W66>S mYOoW6DJ<TWo nml® 

wo6ffi ? (1) 
b) ~~Ocf7ti516)cm 6)n.JcfDCW6e.JO ffilCOOJLl1c006 

OJOcfD gQcfDOJffi ~nJ~CQJOW1c006~ · 
cfu0(06IDo oJlWBI1lOc006cfu. (1) 
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5. Sig nifi cant figures determine the 
accuracy of the measurement of a 
physical quantity. 

a) The radius of a sphere is given by 
R = 1.03 m. How many significant 
figures are there in it? (1) 

b) If the percentage error in 
calculating the radius of the 
sphere is 2%, what will be the 
percentage error in calculating 
the volume? (1) 

6. A sound travelling along a string 
is des cri bed by y = 0 .005 Sin 
(80 .0 X - 3.0 t). 

a) Calculate: 
i) Amplitude 
ii) Wavelength 

(1) 
(1) 

b) Where will a man hear a louder 
sound in the case of stationary wave 
(node or anti node)? Why? (1) 

7. Stress - Strain graph of two 
materials is shown below: 
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a) State the law which relates 
stress with strain. (1) 

b) Which material is more ductile 
(A or B) ? (1) 

c) Which material is preferred for 
making springs (A or B)? Why? 

(1) 
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5. <5"J®"1 c.e:. (O::>CJ01CQJ66J5 mY1l~oJl GJ~ ~\®j® 
m1&~CD5lc:006rrn o.eJ5c.e:.m::>6ffi m.5lcmn.01 
cOO~ n.01(!)06c.fuc.iD. 
a) C2Cf)::J~(OY0)1GJ~ ffii])(Oo R == 1 .03 m 

ffil])GJ6TDEful am, g;Q®1 am m5l em nDl c00<}lf 
o.Dl(f)06cfr,~6J5 ntl)~o ntl)l®CQJ::J6TD ? 

(1) 
b) e2 (f) :::> ~ (OY0)1 GJ ~ ffil]) (0 o c.e:. 61156 oJl 51 

c:006rrn®1GJeJ percentage error 2% 
((jJ]) 6) 6TD ffu 1 af6) OJ J J ~ 0 cB:, 61156 nJl Sl 
c:006rrn®1GJeJ percentage error 
ntl)l®CQJ:)CQ)l(01c0060 ? (1) 

6. 63(06 ...2J(0516JeJ CJO~ @(Oo(f)o y = 0.005 
Sin (80.0 X - 3 .0 t) omrrnu 
<B (0 6lJ 6) r;tJ 56 (0)'0)1 CQ) J af6 

a) cfr,61!56 oJ151<006c.fu : 
i ) ((jJ]) CQ) ®1 ( 1 ) 
ii) ®COo(J)6lGJBffineJjo (1) 

b) 63(06 m1~eJ ®(OoCn(OY0)1GJ~ <Bm::>cu~ 
eJ :::> e2 6TD :::> , ffil]) c(Q1 <B m :::> cw1 eJ :::> e2 6TD :::> 

uo ~ o ~~ (0)'0)1 c0'6 <BcB:, c.iDc006 rrn®. 
cfr,::J(06TDo oJlCJOBQ)::Jc006cB:, · (1) 

7. (061@ OJC'Q{6c:OO~GJ5Stress-Strain l(f)~ 

cB:,~::>6ffi ..2JJ,OJGJ5 m~CQJ1ffilc:006rrn® . 

Sh~t.tv--

a) Stress GJffiCQJ6o StrainGJmCQJ6o 
6ll.J cru5l <;tJ1 <006 rrn m1 CQJ m o L ciJ C'Q{::l oJ1 
c006cfr, . (1) 

b) nffi® 0Jcg{60J::J6ffi cB:,J56®af6 cwc&'GJ6l5 
CD5laf6 (A or B) ? (1) 

c) l~1615T3u m1mClril1c:0060J::>cm nffi®u 
o1 cw6 OJ J 6ID cfr,4 56 (Q) am ®()<51 cB:, J m J o 
(A or B) ? c.fu::J(06TDo OJ1 uoBm::>c:006cB:,· 

(1) 



8. Simple Pendulum is an example for 
a harmonic oscillator. 

a) Define Simple Harmonic Motion. (1) 

b) What is the expression for the 
period of oscillation of a simple 
pendulum ? (1} 

c) A girl is swinging on a swing in 
the sitting position. How will the 
period of swing be affected if she 
stands up ? (1) 

9. A gas is made up of hydrogen and 
oxygen molecules. 

a) Which molecule moves faster? (1) 

b) Find the ratio of the velocities of 
hydrogen and oxygen molecules. 

(2) 

1 0. A refrigerator takes a quantity of heat 
'Q' from the cold body, with work 
done 'W' on it, transfers heat to the 
hot body. 
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a) What does the ratio Q/W 
represent? (1) 

b) The value of Q/W cannot be 
infinity. State the law of 
thermodynamics that explains 
this statement. (2) 

c) It is possible to cool a room by 
leaving the door of the electric 
ref rigerator open. Comment on 
this statement. (1) 
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8. o..O 8 ro (g Ql 8 om1 cOOV 638 \11.)1 (g eJ R016l r([s 
~ 8 Oo..O (()6'ffi Q)86T\') m)) mJ1 em 6lo.J <fOCW6e.Jo . 
a) m))mJ)cJO o..08ro<Em86ffi1ce£) _2je.Jmo 

ntJ>em8~ nti) (")'()) ? ( 1 ) 

b) m5lmJlcfO 6lo.JrffiCW6e.JO 638m5l(ge.JoS16lc{[s 
o.J1 (() 1 CQ) (U) 1 6) r([s ffi) Ql OJ 8 ce:, J 0 

nti)<:P6em6d:h . (1) 
c) 63 (()6 6) o.J 6'1iO d:h6 §1 ~ "J 6Ylm}) 0 ell ~ 
~ ro 6 em 6 6l ce:, 8 6T@ v ffi'© s 6 em 6 . 
6l o.J 6'1iO d:h6§1 nq) <:P 6 <E em 8 m1 em o ~ 
~ "J 6Ylm}) 8 e.J16) em oJl ro1 CQ) ruJ1 6) m 

nti)6N36lffi ffiJOu51~6o ? (1 ) 

9. 63(()6 Wj8ffi)v 6l6lo..OLCUJ~cm, 63J~1~cm 
em('Q')o L emce:,cfO 6ld:h861@ m1 roQl!l1 em m 8 6TI'). 

a) o.ffi emu em ('QJ o L em ~8 omv <E OJ w em 

d:hJS6emrW ? (1) 
b) 6l6lo..OLCW~6lc{[sCQJ6o 638~1~6lcf4CQJ6o 

em ('QJ o l em ce:,~ 6l s L o.J <EOJ W®1D16lc{[s 
am>ouo ffiJ ffi.J.lo d:h6T@6 oJl Sl c006 cfu. ( 2) 

10. OLn..01~1<EORro emom6®1D OJCW6oJlrW 
m1em6o 'Q' emoo.Jo ruell6l~S6<oTot, 

am> em1 (g \OJ rW ' w, am> § oJl rW OJ ro cOOV 

6J_2j~em1m GlUOoS1o em8o.Jm1e.J cfuJS1CQJ 
OJ o;J?6 oJl (g eJ cOOV em8o.J 0 o.J cfu(()6 em6 • 

a) Q/W ntJ>c®l6lm ((l)J--'21l~c006cm6? (1} 

b) 0/W 6lc{[s oJle.J ~cmo.dlffilR1 nr©cfuorffi 
o.JoSl~. ~"D Lo.JCWOOJffi6lCQJ cru8WJ 
ce:, ro1 c00 6 em 6l em ro <E Ql1l 8 6l 6l ruJ m 8 
m1ce£) m1CQJr1lo Lo.Jo;J?8oJlc006cfu. (2) 

c) ouul1~1<EOR016lc{[s OJoem1nm em6o 
em1§6 6ld:ho61@ m6o1 uolem1cfuro1c006 

OJocm cru8u5lc006o. ~ro Lo.JCW8rum 

GlCQJOS Lo.Jem1ce:,ro1c006cfu. (1} 
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11. Acceleration-time graph of a body 
is shown below: 

a(m!s'') L~---~-+ 
t (s) 

a) Draw the corresponding velocity-

time graph . (1) 

b) What does the area under the 

velocity-time graph represent? (1) 

c) Arrive at a relation connecting 

velocity (v) and time (t) for a 

uniformly accelerated body. (2) 

12. A stone is thrown upward from a 

moving train . 
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a) Name the path followed by the 

stone. (1) 

b) A particle is projected wi th a 

velocity ' u ' in the d irection 

making an angle e with the 

horizontal. Find : 

1) Time of flight 

2) Maximum height (3) 

c) A man can jump on moon six times 

as high as on earth. Why? (1) 
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11 . 63 COt!, Cl.J CW6 o._n 6)\(8 <OljCD 6ffi o- em QJ CWo 

L~oo_o861D -.2J60J6)s m~m>ICD1a7u-wm®. 

a(m!s2
) ~----
L 

t (s) 

a) a:gcm@~ cmJ6ffil-9J1CD1c006cm LmJn..Ol6)\(8 

emmCW-lCLJ(gOJ(f) L(f)JnD OJCD~cfrl. (1) 
b) em m cw -Lo.J (g OJ m LmJ <1.016) \(8 

oJlcw"lm~o o.ffiOOJ16)m em~-.2ll~ 

c006Cffi6 ? (1) 
c) ffi)QlJm <OlJCD6YDOJ2,~ OJCW6oJl6)\(8 

LCLJ GOJ m OJ2, o- em OJ cw OJc?,o <Ol am1 ~ 
6Y2JM~lc.006Cffi OJJcfujo CD~oJlcmm1 
c002,cfrl. (2) 

·j 2 . ffi)6®Jffi1~6)cmJ61"@1m1.oo6cm LSm51m1~ 

m1cm2,o 63ffic!, cmg[ OJJ,cm~1Ge.Jc:OO"' 
O{j)01CWJ,Cffi2,. 

a) em r;[ em 6®J col c£76\~ em CLJ o <Ol 

Oill®J6ffiv ? (1 ) 

b) <Ol1 CD c&J"J m B1 (!() CW1 ~ m1 Cffi2, o 8 

cg cm J 6ffi ~ oJ OJ m (0'(0) .oo oJl w o ' u ' 

L CLJ (g OJ m (g (0'(0) J s 6 cm~ s1 63 CD 6 cm ~[ 
ffic!,cm§1Ge.Jc00"' O{j)01CW2,Cffi2,. cfrl61@2, 

oJl Sl .006 eft, : 

1) Time of flight 

2) Maximum height (3) 

c) 63ffi6 mmc?,nS:lJffi rs~m1 6)cw ffi'(()(]CLJdhl:lLgJ 

-.2J L m m1 ~ ffi'® o1 CD §1 ~ cw m (0'(0)1 ~ 

-.2JJSc?,OJJcf6 ffi)JWicOOc?,o. O{j}00!2, 

(1) 



Answer either question 13 A or 13 B 

a) When air is blown in between 
the two balls, will they attract 
orrepel? (1) 

b) State the principle that 
explains your observation. (1) 

c) Using this principle, derive 
Torricelli 's equation [Speed of 
Efflux] (3} 

OR 

13. B) .. ~~-*-~J 
··---~X::;: -:_.- ~ 

- ~ --:J 
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When a thin tube is dipped in 
water, water rises in the tube 
through a height 'h' 

a) Name the phenomenon. (1) 

b) Arrive at an expression for the 
height of the water rise (h) in 
the tube. (3) 

c) Will water overflow, if the tube 
is cut at level A ? Justify your 
answer. (1) 
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CJB361®an1eJ6o @lm161~ (13 A or 13 B) 

~®mCOo %)Y'6®6cfr>. 

13.A) 

13. B) 

a) (() 6f@v nJ ('ffi) 6 eft, cJO c£)-6)1 s cw1 elJ 6) s 
mcfr®1CW8WJ ~'D®1CW8cW nJ(Y0)6 
eft, em @'@)eft, & n91l c£)-6)2, (g(ll J ' oJl eft, & 
crl:ll c£)-6)2, cg Q) J ? ( 1 ) 

b) m2, cfr> ~1 eJ 61 Mm cg m 8 B j ®m1 m" 
~Mmcoo cfr>616ftS®m8rfD m16N361~ 
cruo.D8WJ_.sJ m1cwmo LnJCW8oJl 
c£)-6)2, eft,. ( 1 ) 

c) lnJCW6(Q) m1cwmo ~nJ(gCW8W1-sJ" 
cgs8o161cru@Jlcw661S crumru8cfr>j 
®m1 <&> %)Mm1 (g_.sJ C02, eft,. 

(Efflux 61~ cgruwo) (3) 

OR 

A ~~-1jh ( :-~ _:f~~ :~ --:.~-- ~ 
=· ..r ;.:::· -=-j----- --
-~ ·-· ---· - ._.... ~· 

. . 

@(()6 cgm&®O'J sjm1 ~eJm<&> (lj):)~ 

CW8cW, S&6il.llcW 6)0J~o 'h ' ~CWCO 

mcgeJcOO' ~cw&rm®8cWl cfr>86m6lm6. 

a) g;Q'D lnJ®lr58cru®m161~ cgnJ6)CO 
('ffi) J om ? < 1 ) 

b) s & 6Yl.ll <&> ~ eJ ®m161 ~ ~ Cl2J &-sJ 
CW2,61S (h )cruJL®OJ8cfr>jo cfr>6ft52, 
oJlS1c£t6)2,cfr>. (3) 

c) 6)eJOJcW AcWl<W 6)0J_gj Sj6Dl D:l601 
_.sJ8cW Sj6DJl61eJ ~eJo cfr>oJl6m\i) 
@':l'2,cfr>6(gD:l8 ? ffil6N3~6)S ~(O'®(()o 

m j8cW'1cfr>co1c£t6)6cfr>. (1) 
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14. A thin circular ring is rotating about 
an axis. 

a) State the theorem which will 
help you to find the moment of 
inertia about its diameter. (1) 

b) Using this theorem, find the 
moment of inertia of the ring 
about its diameter. (2) 

c) A ring rolls down the inclined 
plane without slipping. Find the 
velocity of the ring when it 
reaches the ground. (2) 

15. A circular track of radius 400 m is 
kept with outer edge raised to make 
5 degree with the horizontal. 

a) What do you call this type of 
construction of tracks ? (1) 

b) Obtain an expression for the 
maximum permissible speed 
considering the force of friction . (3) 

c) Calculate the maximum 
permissible speed of the car if 
the coefficient of friction is 0.2. (2) 

16. A car is moving with a constant 
speed on a straight line 

a) What is the net work done by 
the external force on the car? (1) 

b) State work energy theorem. (2) 

c) A bullet of mass 10 g and 
velocity 800 m/s is passed 
through a mud wall of thickness 
1 m. Its velocity reduces to 100 
m/s . Find the average 
resistance offered by the mud 
wall. (3) 
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i 4. (]ffi/O(l)!O) cruiOcOOc?,e.JiO Olow ®OcfhS:1co®lS>m 

®OSl mill Om m oc001 l e5 m Eimo 6'>..2J <:_BJ, rrnz,. 
a) OJ j 0 ffi) 6) (l)!O) @'® ffi)v oJ 8 (] 0 cOOl 

o1o(f)16'>~ C8r1lOS>r1lc@' sonnv gJ2miO~j 
r£h 61YS2, oJ1 s1 c002, on ®1 mz, ~ 
mllBDOmDo loJCIJ{OoJlcOOJ,rfu. (1) 

b) gJ2 r-o cru1 BD o mD o ~ oJ (] cw o (!)1--sJV 
OJjOcruS>(l)!O) ffi'©CJHGr1locOO'l o1o(f)16'>~ 
(]Q:JOS>mc@' soo..O gJ2miO~j r£h6ll52, 
oJlSlcOOJ,rfu. (2) 

c) ffi) iO cOO 2, eJ iO o1 0 (f)V .!2.J (01 OJV (OJ eJ (l)!0)1 
e.J46)S OJI:PJ,(Q)06)@ (OJ0(]y?W6)v ~(()c?,6'r"'@ 

OJ (02, rrnz,. ®o 6'! ~:? 6'! cw (l)!O)c?, (] <llJ o ~:? 6'! (l)!O) 
OloW6'>~ loJ(]OJ(f)o r£h61YSc?,oJlSlcOOc?,r£h. 

(2) 

15. 400 m ffi@)(()r1lc?,§§ OJfO(l)!O)c?,§_ oJO®CWJ,S!S 
oJc?,Oo ®0(()1cfu ®1(()~ffi BluoS>cw ®OC8oJ 

cW:11-sJV 5 cWll (!)1 ~cw fO rrn1 (01 c002, rrnz,. 
a) gJ26'J®(]oJ06JeJCWc?,~ lSOc002,r£h~6)S 

ffil fO r11ll 06m (()j ®16'>CW ntj) ('(0) oJl ~ 
c002, rrnz, ? ( 1 ) 

b) n.e.JCO~Eim 6We.Jo r£h6mc0016'>eJSc?,(l)!O)c?, 
6)r£h06f(Sv ffi)2,(()cfu9::!l (OJQ)0mll ffi)61Q2J(()1 
cOOOo.Jc?, (ffi oJ (()(]OOJuJl (]OJ (f) (OJ~~ 
cru4l®OJOr£hjo (()Jo.J'lrfu(()1cOOc?,r£h. (3) 

C) n.e.Jf0~6m C8r£hOCWnD1~~" 0.2 
((i@ 6) 6m f.ful am cruz, (()cfu9::!1 (Q) Q) ocn51 ffi) 6®.1 

(()1cOOOOJc?,rrD oJ(()Q)OOJuJl (]OJ(f)o 

r£h61YSc?,oJlSlcOOc?,r£h. (2) 

16. 8(02, rfuOfO C8ffifOC8(()6l.JCQ}leJJ6'>S ffiill1(() 
(]OJ (f)(l)!0)1 am ffi) 6'®J (01 cOOc?, rrnz,. 

a) 6DJOo.Dj 6DJeJo r1lJe.Jo c£noo1am ®Omc?, 
(50J6)<;tjSc?,(ffi LoJOJ0(l)!0)1 r£h61YSc?,oJlS1 

cOOJ,rfu. (1) 
b) loJOJ0(l)!0)1-~rofO~ ®®Jo loJCIJ{OoJl 

cOOJ,rfu. (2) 

C) 10 g rllO~VJP 800 m/s LoJC80J(f)OJc?, 
mz,~ 6W6~R1S>m 1m n.e.JffiQ)c?,~ 
Q) 6Y"fD C51 (l)!0)1 CQJl eJ 4 6) s cfu s (l)!0)1 oJl s 6 
C8<ll.JocfD ®OmSlS>~ LoJC80J(f)o 1 OOm/s 
ffi'©Wl cfb6ocw6rrn6. ntJ)f.fulmn Q)6Y"f6@lm 
LoJ cgcwou51 cOOc?,ITn CJO(()OCJOc61LoJ®1C8(()0Wo 

r£h61YSc?,n.J}SlcOOc?,cfu. (3) 



Answer either 17 A or 178 

17. A) For a particle to leave from the 
earth's field, it should be projected 
with a minimum velocity. 

a) Name the velocity. (1) 

b) Obtain the expression for the 
above velocity. (2) 

c) An elephant and an ant are to 
be projected from earth into 
space. Whether the velocities 
required for doing so are the 
same or different? Justify your 
answer. (2) 

d) Find the period of a simple 
pendulum, if this experiment is 
performed inside a satellite ? (1) 

OR 

17. B) The acceleration due to gravity (g) 
on the surface of the earth is 
9.8 m/s2. 

615 

a) Define acceleration due to 
gravity (g). (1) 

b) Derive an expression for the 
variation of g with height (h) 
above the surface of the earth. (3) 

c) At what height 'h' the value of 
'g' will be half of that on the 
surface of the earth ? (2) 
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0@6l®Efu1eJ6o 63mJ16l~ (17 A or 178) 

~<m~roo ntD~6®6cfu. 

17. A) r5JD:l1W66lS Cf)6ffi6®J:Jcfui0n.9::l6TD (lJeJ(Ql 

<m~1 m'b m1 ffil6 o ro dhl:l6l c;B s :J <fO 63 ro6 
ClJ<lJ{6oJlm m1m1mo ln..J(]ClJ(f)o ~6YYS:J 

cn5l ro1 cB€>6ffio. 

a) gQ'TI ln..Jc&ru(f)<m~16lm oJl~cB€>6ffil 
c& n..J 6l ro (Y()):J 6TTl ? ( 1 ) 

b) !1)6cfuglafb nJ061llT6) lnJc&OJC/)@0516)~ 

CTU~l®OJOcfujo cfu6fr5J,nJ1SlcOOJ,cfu. (2) 

c) ar@ffi6)WW6o ~o6m116lmw6o 
cnlJ m j:Jcfu:Jcnl c&<m~c&€l 6l®:JS6 (l5)'0)6 
oJlS6ffi6lD:ltfulc@>, ffiYO ®1m :J (lJ cnl j 

m :J w l n..J cg ru (f) o ro 6YYS1 m 6 o 63 ffi6 

c&n..J:J6) eJ CQl:Jc&6TD:J ffiYOc&®:J OJ j® j<lJ? 

Q) :J crV1 an cB€>6 c& Q) :J ? m16m3 §2, 6) s 

~<m~roo ffij:JcWlcfuro1cB€>6cfu. (2) 

d) cruorf6l6leJR1mJ,ffi1am 6lru .. g,l 
cru1 mJ1 ciO 6l nJ ® CLD 6 eJ o o_l 0'1 

~6ffio ms(l)Y0)1m>oco'rl, (ID()®16l~ 

nJ1Cll1m>ru5' n{DL®m>Om>!Cll1cOOJ,o ? (1) 

OR 

17. B) <SJD:l1W66)S ~n..JC01®eJ<ml16leJ Cf)6ffi6 

®J:Jcfui0n.9::l6ffi®Jffi6mo(g) 9. 8 m/s2 

ar@cfu6 ffil6. 

a) Cf)6ffi6®J:Jcfuffin.9::l6TD®Jffi6mo(g) 

m1&<1J..2.1lcB€>6cfu. (1) 

b) @~Q)1m>J,6lS ~nJc6l®eJ@051afb mkrr) h 
~m>Cllo 6lcfuOEi'f'@ g co1l OJCllOOJJ,rffi 

OJj® jOCTUo cfu6fficOOOcOOJ,rm®lmJ,ffi 

crumru::>cfujo Cll~oJlcfuCll1cOOJ,cfu. (3) 

C) g -ceu) @~Q)1C!2>J,6lS ~nJCll1®eJ(llY0)16leJ 

g- m>J,6lS nJcfuJ,®1 Q)~eJjo OJCllOOJJ,rm 

~m>Cllo cfu6fficOOOcOOJ,cfu. (2) 
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